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Question 1 9

Not yet answered
Marked out of 4.00

" Flag question

The differential equation
zy —ysinz +y> =0is

Select one:

Linear
Homogeneous
Bernoulli

None

Exact

Question 20

Not yet answered

Marked out of 4.00 N

\” Flag question Bl“_““
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Question 1

Not yet answered
Marked out of 4.00

" Flag question

A spherical raindrop evaporates at a rate
proportional to its radius r. A differential
equation for its volume is

Select one:
O V() = —aV? forsome a > 0

O V'(H) = —aV'? forsomea > 0
O None
O V'(t) = —aV for somea > 0

O V(1) = —aV?? forsome a > 0

Clear my choice




Intne Interval (U, o0 ).

A solution is not guaranteed to exist in
the interval (0, 00).

A solution exists on a subinterval of the
interval (0, 00) but not necessarly on

(0, 0)

None

LT e .

Question 2

Not yet answered
Marked out of 4.00

" Flag question

The general solution of the differential
equation (y* + 1)dz + 4zy*dy = O'is

Select one:
y(z) = (£ + 1)V
None
y(x) = ez

y(z) = (5 -1V
y(z) = (cz — 1)
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ntai ing 10 gram of salt per Liter is poure
and is permitted to leave the tank ata

dinto an empty
rate of 2 Liters per

=
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Not yet answered
Marked out of 4.00

¥ Flag question

The differential equation
2’y +y° = 2xy?y is

Select one:
Exact
Homogeneous
None

Seperable

Linear




V'(t) = —aV " torsomea > U

Clear my_choice

Question 1 8 ‘

Not yet answered
Marked out of 4.00

V" Flag question

The largest interval in which a solution of the
initial value problem

(t+1)(t—3)y +Inftly =1t y(1) =2
is certain to exist

Select one:

None
(0, 00)
(0,3)
(0,2)
(=1,0)
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Question 7

Not yet answered
Marked out of 4.00

V" Flag question

The initial value problem 3y’ = z(y — 1)/3,

y(xo) = yo has a unique solution if

Select one:
Ty — Il
L0 75 i
yo =1

None

Yo 7 1

Question 8

Not yet answered
Marked out of 4.00

V" Flag question










None

Clear my choice

Question 10
Not yet answered
Marked out of 4.00

V" Flag question

The differential equation y2z + 2y'e® = 0
is

Select one:

- Seperable
Linear
" None
~ Homogeneous

' Exact
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For the initial value problem Z—Zt/ -+ % = e,
y(1) =2

Select one:
A solution exists but is not guaranteed
to be unique.

A unique solution is guaranteed to exist
in the interval (0, 00).

A solution is not guaranteed to exist in
the interval (0, 00).

A solution exists on a subinterval of the
interval (0, 00) but not necessarly on

(0,0)

None
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The solution of the differential equation
(3z% + 2zy?)dz + 2z?ydy = 0 satisfies
the implicit equation

Select one:
x? + 23y? = ¢
2 +y?=c
None
4+ 22y’ =c

z® +x2y? =

Question 1 2

Not yet answered
Marked out of 4.00

* Flag question

The solution of the initial value problem
y'y’ =ty'(1) =1,9(1) = 3 is

Select one:
ot
y(t) = 5
y(t) =
- 1
y(t) =t — 3
None
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